LCO??@EPTUAL TOOLS

By: Neil E. Cotter LAPLACE TRANSFORM

IDENTITIES:
Example 6

EX: Find the Laplace transform of the following waveform:

fo=ef (:tsin(wt)dt

soln:  We work from -+the inside out, startin

with the Laplace transform of sin(wt) From
a table of transform pacrs:
oi 3 sin (w'&)E = _w
,S‘i- w<
We now apply the [dentidy for multiplication
b)/ £:
L ELFE)S = —-d L §F)3
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We hnow q/of()/ the idc//fz'-f/ for fo :

ﬁg&tf(-t}o(t} = g\‘ L 3FE)T

. |
LG f tsin(ut)dtd = 2w
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we now aPF(y the la\en-‘:]-h)x For
multiplication ’o)/ e__q"’;

L5 FwT = £ g,cpc)g\

S+a rePlaCes g
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Lie J;fsin[wf)aitg = Zw
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